REZ 5 km 0.12500 1:100 REZ 7 km 0.17500 1:100

- vykop 0,17m2 - vykop 0,05m2
0.75 3.25 3.25 0.75, 2.75
. 2.9% 3.0% ”
LEGENDA %cmm% _3.0% 3.0% 1 8.0% 1003 | 234 075 3.25 ] 3.25 0.75, 1.00 g\
———— TEREN = — == |
UPRAV. TEREN = = i % |
NIVELETA - S LEGENDA TYPU CAR _J00% 8o S0 50Z | 8.0%
———— TEREN — - = ]
UPRAV. TEREN e -
NIVELETA <
~ | m e = © o N 2 i S I o
KOTY NIVELETY ~ | ™~ NN o~ KOTY NIVELETY o~ o o~y o o~ o~
= - g8 & = R 5 N S8 - = 5 & | 23
— — — =) o o o — o o — — — o o
KOTY TERENU ~ ~ ~ o~ ~N ™~ N KOTY TERENU ~ NN ~ ~ ™~ ~N |~
SROVNAVACI ROVINA: 206 W W W W W SROVNAVACI ROVINA: 207 W W W W W W W
O N WO M ~ — (@) O~ O
RS S SS=1= RS 3 = A v S L 983
STANICENI T S s 4w 6 6 o o STANICENI , P , T S R i
REZ 6 km 0.15000 1:100 REZ 8 km 0.20000 1:100
- vikop 0,22m2 - vykop 0,97m2
- zasyp zeminou 0,26m2
- SDA 0,86m2
2.00 3.25 3.25 0.75, 2.54
5 2.9% 3.0% ”
LEGENDA TYPU CAR < —= 0% 18.07 10.0%
———— TEREN = = = ==
UPRAV. TEREN = = — T N
NIVELETA < LEGENDA TYPU CAR
—— TEREN
UPRAV. TEREN
NIVELETA
o ~ = S B = it S S |5 © 5 |5
KOTY NIVELETY ~ N ~ ~N o~ ~ KOTY NIVELETY o~ o~ ~ ey o~ ~ ey
= = R = S = & = S
KOTY TERENU o~ ~ o~ ™~ NEN N KOTY TERENU ~ ~ o~ o~ ~
SROVNAVACI ROVINA: 206 W W , W W W W SROVNAVACI ROVINA: 207 W W W / W
Lo ~- LO © N o [@s S NTe)
B NN S L 383 2 =F g S < SR S SISI=INS
STANICENI 7 T = S 44 8 ©o o STANICENI D , TR S R



